180.020

180.015

180.010

azPos [Deq]

180.005

180.000

180.10

180.08

180.06

180.04

azPos [Deqg]

180.02

180.00 -

182.0

181.5

181.0

azPos [Deq]

180.5

180.0

24jan11. Az position vs Tm. AzStepSize=0.02 Deg

VY EI=10.0 deg W |
El=45.0 deg
El=80.0 deg |

5 10 15 20
time [seconds]

Az position vs Tm. AzStepSize=0.10 Deg

25

5 10 15 20
time [seconds]

Az position vs Tm. AzStepSize=2.00 Deg

25

5 10 15 20
time [seconds]

25



PosErr milliDeg

PosErr milliDeg

PosErr milliDeg

10

-10

10

-10

10

[é)]

o

]
a

-10

24jan11. Az step settling Error vs Tm. AzStepSize=0.02 Deg
B T T T T T T T T T T T T T T T T “ T T T T T 7]
- EI=10.0 deg “ B
 EI=45.0 deg \ ]
L ElI=80.0 deg \ ]
- | ]
S
0 5 10 15 20 25
time [seconds]
Az step settling Error vs Tm. AzStepSize=0.10 Deg
- | -
- | e
L | | | | | . . . . L
0 5 10 15 20 25
time [seconds]
Az step settling Error vs Tm. AzStepSize=2.00 Deg
B T T T T T T T T T T T T T T ‘ T T T T T 7]
- | ]
oo - R ——
- | ]
- | =
0 5 10 15 20 25

time [seconds]



elPos [Deg]

elPos [Deg]

0.02

0.01

0.00

0.10

0.05

0.00

elPos [Deg]

24jani1. El position vs Tm. EIStepSize=0.02 Deg

- EI=10.0 deg ]
— El=45.0 deg =
= EI=80.0 deg ]
0 5 10 15 20 25
time [seconds]
El position vs Tm. EIStepSize=0.10 Deg
0 5 10 15 20 25
time [seconds]
El position vs Tm. EIStepSize=2.00 Deg
0 5 10 15 20 25

time [seconds]



PosErr milliDeg

PosErr milliDeg

PosErr milliDeg

10

-10

10

-10

10

&)}

o

]
a

-10

24jani1. El step settling Error vs Tm. EIStepSize=0.02 Deg
- El=10.0 deg B
B | El=45.0 deg ]
L ;\ﬂM El1=80.0 deg ]
C I 7
- il *
- | .
— \‘1‘“ -
0 5 10 15 20 25
time [seconds]
El step settling Error vs Tm. EIStepSize=0.10 Deg
| VU o | <
0 5 10 15 20 25
time [seconds]
El step settling Error vs Tm. EIStepSize=2.00 Deg
B T T T T T T T T T T T T T T “ T T T 7]
B ‘ 4
I \ WW |
L \NN |
0 5 10 15 20 25

time [seconds]



